XYZ,,=109.84,99.99 , 35.58 Parameter:
A=256-a)Y 1004 B vanName
258, (b-b,) Y Lichtart A0

=3[ (x=x.) /W Y,,=100 Y,=4

b=bylz/y

0= 1, by =04

X, = 0,000, B? =1,000 96Y

C = IRAB % [T

6 OstwaldFarben (0) 55G, @ QAR

von maxi (m)Cygim | t t —t

Buntwertdiagramm (A, B)  ~898, O — A0 0438

Lichtart A0O, Y,, =100 Y,=4 R e

Name erich ¥, 8,

R, 579_775 8111 4535 149 06336 058l 0% 400

V) 504_775 104014 369 05118 047 581 474

G, 504579 26.08 54.89 366 03241 0.6335 547 547c

C!380_579 3324 58.75 35.54 02606 0.4606 499 605

B 380504 9,66 795 3334 0.1895 0.1561 474 581

M, 579_504 8627 492 3338 05108 02914 S47C54T 100

W,,380_775 100.899.99 35.58 04475 0.4074 100%
N, 380_775439 399 142 0447504074 4%

2, 380_775 19.77 17.99 6.4

0.4475 0.4074 18%
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